SIIZBN

ELECTRONIC CALCU

SDC-888X

Instruction Manual

Manual de Instrucciones
Livro de Especificacoes
Anweisungshandbuch
Manuel d'instructions
Istruzioni all’'Uso
Gebruiksaanwijzing

Manual

WHCTpYKLMS No 3KcrnnyaTumm

Instrnkcja Obstugi
Slali Y ddds
Peraturan pemakaian

RS LR

CITIZEN SYSTEMS JAPAN CO.,LTD.
6-1-12, Tanashi-cho, Nishi-Tokyo-Shi,

Tokyo 188-8511, Japan

E-mail: sales-oe@systems.citizen.co.jp
http://lwww.citizen-systems.co.jp/

CITIZEN is a registered trademark of CITIZEN Holdings CO. LTD., Japan

CITIZEN es una marca registrada de CITIZEN Holdings CO. LTD., Japén.
Design and specifications are subject to change without notice.

BEHREACITIZENZ B A A B SRR N2 A0 E MR

€

Printed in China HDBOD48L119 XXX

D48L SDC-888X SIZE=250X72mm




* POWER SUPPLY

CITIZEN model SDC-888X is a dual-powered (high power solar +
back-up battery) calculator operative under any lighting conditions.
-Auto power-off function-

The calculator switches the power off automatically if there has
been no key entry for about 10 minutes.

-Battery change-

If the back-up battery needs to be changed, open the lower cabinet to
remove the old battery and insert a new battery in the indicated polarity.

* KEY INDEX English

[-28] : Power on / All Clear key.
[CE/C] Clear Entry / Clear key.
[MU] : Price Mark-up/down key
00-0] : Shift-back key. [M+] : Memory plus key.
M-] : Memory minus key. [+ /-] : £Sign change key
MR] : Memory recall key [MC] : Memory clear key

[
[l
[l
[

MI1+] [MII-] [MI1§] : The Second Memory key

AQ234F ; i i

[ i) Decimal place selection switch

—-F- Floating decimal mode

-0-2-3-4- Fixed decimal mode

-A- ADD-mode automatically enters the monetary
decimal in addition and subtraction calculations

Lt R R R i

f ) Round-up / Round-off / Round-down switch

The Signs Of The Display Mean The Following:
MI  The first memory loaded. — Minus ( or negative)
MIl The second memory loaded E Overflow-errol

* OPERATION EXAMPLE:! English

1.Calculation Examples

Before performing each calculation, press the [ ] key.
Example Key operatlon Display
Teit 1x2x376 25 0
1[X12[x]3[F] 6.
[CE/C] 0.
A0224E ox3=6 2 [x] 2 [CE/C] 3[=] 6
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0
2[+]4[+]6[7]
1234 x 100 12345 [00-0] 1234.
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
1;72 x100%=20% 112 [+] 56 [%] 20.
30+ (30 x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=] == 625.
Jiaa =12 144 [ f1] 12.
20234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 =] [=] 0.03
1
AQ234F x5z “0166.. 254 0.16
2.Memory Calculation
tsal (12x4)-(0+2)= [Q¥] 0.
x> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
N0234F [MR] w38
~~~~~ [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3 =60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A =190) 10 [<]5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2
ix2e8 Mg w10,
(total B = 10) [MR] [] w190,
A+B=19 MHE] - 10
[= 19
[ 0.
3.Constant Calculation
ts4l 2+3=5 2[+3[] 5.00
4+3=7 417 7.00
nozaap 3X4111=12333  3(] 4111 12.34
3x6=18 6[=] 18.00
4.0verflow Error Clear
123456789012 x 100 1234567890123  E 123'456'789'012.
= 12345678901200 [00-»0] [x1100[=] E 12.3456789012
[ AC ] 0.
5.Price Mark-Up & Down Calculation
T sl 200+(Px20%)=P 200 [<] 20 [MU] 250.
p=_200__ oo MU] 50.
AQ234F  1-20%
B 250200 =50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
pe_125 _ 00 MU 25.
1+25%
125-100 = 25
6.Delta Percent
teal 1325150 ¥100% =  180[-1150 [MU] 20.

A0234F 200
—D
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* ALIMENTACION

Modelo CITIZEN SDC-888X funciona gracias a un mecanismo de doble
carga (luz solar y bateria de apoyo), lo cual le permite operar bajo
cualquier condicién de iluminacién.

-Funcion de desconexion automatica-

La calculadora se apaga automaticamente si no ha sido utilizada
durante10 minutos aproximadamente.

-Reemplazado de la pila-

Si la pila de apoyo necista ser reemplazada, quite los tornillos del
departamento inferior y sustituya la pila gastada por una nueva.
Coloque la pila en su posicion correcta, con la polaridad indicada.

* TECLADO INFORMATIVO

ON] : Tecla de encendido / Borrar todo.
[CEIC] : Tecla de borrar entrada / Borrar.
[MU] : Tecla de subir o bajar precios.
[00-0] : Tecla de anular el digito ultimado.
[M+] : Tecla de memoria positiva.

‘ecla de memoria negativa.

+Tecla de cambio de signo
[MC] : Tecla de limpieza de memoria
[MR] : Tecla de llamada de memoria
[MI14] [MII-] [MI1§] : Tecla de la segunda memoria

[ ) Selector del lugar decimal
-F- Modo decimal flotante
-0-2-3-4- Modo decimal flotante
-A- Modo ADD: ingresa automaticamente el decimal
monetario en célculos de suma y resta
15 Redondeo hacia arriba / Sin redondeo / Redondeo
hacia abajo

Los signos del visor significan lo siguiente:
MI : La primera memoria est4 cargada.

MII : La segunda memoria esta cargada.

—: Menos (0 negativo)

E : Error de desbordamiento

* EJEMPLO DE FUNCION

1. Ejemplos de calculacién
Antes de realizar cada célculo, presione la tecla [%].

Ejemplo Operacién con la tecla Visualizacién
tsel 1x2x3=6 [Re 0.
1[X]2[x]3[7] 6.
[CE/C] o
A0234F _ -
g 2X3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+] 6] 12.
1234 x 100 12345 [00-0] 1234.
=123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100%=20%  11.2 [+] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5= 625 5K EFEE 625.
Jiaa =12 144 /1 12.
A0234F
...... $14.90 + $0.35 — $1.45 1490 [+] 35 [-] 145 [+]
T . 31205=325.85 1205 [=] 25.85
Ls4l 1/30=0.0333.... 30 ][] 0.03
1
A0234F Gxsay “0166.. 2X5[H4FIE 0.16
2.Célculo de memoria
tsul (12x4)-(20+2)= [QN] 0.
38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
no23ar [MR] w38
[c— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w100
25 x 4 =100 [MR] w190
(1t8tél 5A_=2190) 10[]5 M+ 4[] 2[MII+] 0 8.
o= R Mi
X228 MIIE] i 10.
(total B = 10) [MR] [+] w190
A+B=19 MIIg] w10
[= 10
[Re- o.
3.Constante
1547 2+3=5 2[+]3[7] 5.00
4+3=7 4[=] 7.00
nozaar 3X4111=12333  3[]4.111[7] 12.34
3x6=18 6[=] 18.00
4.Limpieza de error de desbordamiento
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00~0][x] 100 [=] E 12.3456789012
[Re1 0.
5. Célculo de subir o bajar precios
t sl 200+(Px20%)=P 200 [+] 20 [MU] 250.
- 20 _ g [MU] 50.
AQ234F  1-20%
250-200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
_ 125 _ MU] 25.
1+25%
125-100 = 25
6. Porcentaje Delta
ts4]  180-150 o, — 180 [-] 150 [MU] 20.
CaHH o 0%

A0234F 200
—D
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* FONTE DE ALIMENTACAO

CITIZEN modelo SDC-888X tem dupla fonte de alimentacdo de
energia (energia solar e bateria de reserva), permitindo operar sob
qualquer condi¢&o de iluminacéo.

-Func&o Auto power-off(desligamento automatico)-

A calculadora desliga automaticamente, caso nenhum a tecla seja
utilizada por aproximadamente 10 minutos.

-Troca de bateria-

Se for necessério trocar a bateria de reserva, remova a bateria
usada, abrindo a tampa inferior e coloque uma bateria nova,
observando a polaridade indicada.

* [NDICE DE TECLAS

Q4] : Tecla para Ligar / Limpar Tudo.
CE/C] Tecla para Limpar Entrada/ Limpar.
MU] : Tecla para Marca Preco para cima / baixo.
0->0] Tecla de mudanca de digito.

: Tecla de mais da memoria.
] : Tecla de menos da memoria.
Tecla para mudar Sinal +
[MR] : Tecla da rechamada da memoéria.
[MC] : Tecla para limpar a memoéria.
[MII+] [MI1-] [M11§] : A Segunda Tecla de Meméria

[ Comutador para selecéo de casa decimal

-F- Modalidade de decimal flutuante

-0-2-3-4- Modalidade de decimal fixo

-A- Modalidade ADICIONAR entra automaticamente a
decimal monetéria em célculos de adi¢do e subtragéo.

154 Arredondamento para cima / Truncamento /

[ ) Arredondamento para baixo

Os Sinais do Visor Significam o Seguinte:
MI : A primeira memoéria carregada.

MII : A segunda meméria carregada

—: Menos ( ou negativo)

E: Err r transbordamento

* EXEMPLOS DE OPERAC
1.Exemplo de calculos

Antes de executar cada calculo, pressione a tecla [ ]

Exemplo Operagdo com a tecla Visualizacdo
Tway 1x2x376 e 0
1[X]2[x]3[7] 6.
[CE/C] 0.
A0234F _ -
g 2X3=6 2 [x] 2 [CE/C] 3[=] 6
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0
2[+]4[+16[=]
1234 x 100 12345 [00~0] 1'234.
=123,400 [x] 100 [=] 123'400.
5x3+0.2=75 5[x]3[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
g X 100% = 20% 11.2 [+] 56 [%] 20.
30 +(30x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=] =] [] 625.
Jiaa =12 1441 12.
20234F $14.90 +$0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1547 1/30=0.0333.... 30[:] [7] 0.03
1
A0234F @xs-a) "0166.. 2MS5H4EIE 0.16
2.Meméria
sl (12x4)-(20+2)= [N o.
x> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10
no2asr [MR] w38
"""" [MC] [cE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w100
25 x 4 =100 [MR] w190
(total A =190) 10 [<]5 [MI+] 4 [x] 2 [MII+] 8.
10+5=2
ix2-8 MIE] w10,
(total B = 10) [MR] [] w190,
A+B=19 Mg w10
[=] .19
R 0.
3.Constante
tsal 2+3=5 2[+3[9] 5.00
4+3=7 4[=] 7.00
nozaar 3X4111=12333  3[]4.111[7] 12.34
3x6=18 6[=] 18.00
4.Erro por transbordamento
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00-0] [x] 100 [5] E 12.3456789012
3] 0.
5. Célculo para marcagéao de preco para cima & para baixo
t sl 200+(Px20%)=P 200 [<] 20 [MU] 250.
p=_200 _ o, [MU] 50.
A0z34F  1-20%
B 250200 =50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
125 100 MU 25.
" Tio5%
125-100 = 25
6.Porcento Delta
t 54l 180-150 _  180[-] 150 [MU] 20.
Lt 180-150  hn006 =
CaH o 0%

A0234F 20%
[ )
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* STROMVERSORGUNG

Das CITIZEN Modell SDC-888X wird durch 2 voneinander
unabhéngigen Energiequellen versorgt (Entweder durch eine sehr starke
Solarzelle oder durch eine Batterie). Der Rechner arbeitet selbst unter
schlechtesten Lichtbedingungen.

Ist der Rechner 10 Minuten nicht in Betrieb, schaltet er sich
automatisch ab.

-Batteriewechsel-

Soltte die batterie gewechselt werden, entfernen Sie bitte die
Schrauben vom unterteil und tauschen die alte gegen eine neue
batterie aus. Beachten Sie, daR die batterie richtig, entsprechend
der polaritat, eingelegt wird.

* ERKLARUNGEN VON SCHLUSSEL

[-ac] : An/Alles Léschen Taste.
[CE/C] Eingabe 16schen / Clear Taste.
[MU] : Preisangabe-oben/unten Taste
[00—+0] : Rechts schub taste. [M+] : Speicher Plus-Taste.

-] : Speicher Minus-Taste. [+ /-] : +Vorzeicheneingabetaste.
MR] : Speicher Abruf-Taste [MC] : Speicher Léschen-Taste.
MII+] [MII-] [MIIE] : Zweite Memory Taste

gﬁg Schalter fiir Dezimalauswahlplatz

-F- Gleitkomma-Modus

-0-2-3-4- Festkomma-Modus

-A- ADD-Modus gibt bei Additions- und Subtraktions-
rechnungen automatisch das Dezimalkomma an.

[M
[l
L

Aufrunden , Abrundenschalter

Die Zeichen in der Anzeige haben die folgende Bedeutung:
Ml Erste Memory geladen. — Minus ( oder negative)
MIl  Zweite Memory geladen. E Uberflussfehler.

* BEISPIEL FUR DEN bETRIEB

1.Berechnungsbeispiele
Vor jeder Berechnung bitte die [-28-] Taste driicken.

tsal
o

Beispiel Tastenkombination Anzeige
Teit 1x2x376 2T o
1[X12[x]3[F] 6.
[CE/C] 0.
% 2x3=6 2 [x] 2 [CE/C] 3[=] )
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+ 4+ 6] 12.
1234 x 100 12345 [00-0] 1'234.
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
1;72 x100%=20% 112 [+] 56 [%] 20.
30+ (30 x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5[x] [=][=] [=] 625.
Jiaa =12 144 [ f1] 12.
A0234F
444444 $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
T 1 $12,05=$25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30 =] [=] 0.03
[G— ]
A0ZI4F —1 — _ 0166 254 [ 0.16
x5 .166.... .
2.Speicher
sl (12x4)-(20+2)= [Q] 0.
x> 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
A0234F [MR] m 38.
[C— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3 =60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A =190) 10 [<]5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2
ix2e8 Mg w10,
(total B = 10) [MR] [] w190,
A*B=19 MIIE] w10
[= 19
[ o.
3.Konstant
tsal 2+3=5 2[+3[] 5.00
4+3=7 417 7.00
nozaap 3X4111=12333  3(] 4111 12.34
3x6=18 6[=] 18.00
4.Korrektur und Uberlauffehler
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00+0] [x] 100 [5] E 12.3456789012
2] 0.
5. Preismarkierungs auf & abrundungsrechngung
T sl 200+(Px20%)=P 200 [+] 20 [MU] 250.
__200 oo MU] 50.
A0234F 1-20%
B 250-200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125 100 MU 25.
1+25%
125-100 = 25
6. Delta Prozent
154l 180-150 o, — 180 [-] 150 [MU] 20.
CHH o X00%

A0234F 200
[e— )}
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* ALIMENTATION

CITIZEN modéle SDC-888X a double alimentation (énergie solaire
haute+pile de soutien d'alimentation) qui peut opérer sous n’importe
conditions de lumiére.

- Arrét d'alimentation automatique -

L'alimentation de cette calculatrice se coupe automatiquement si
laissée allumée et non utilisée pendant environ 10 minutes.
-Remplacement de pile-

Lorsque il faut remplacer la pile,enleve les vis de I'étui bas et
remplacer la pile usée et insérer une nouvelle pile selon la polarité
indiquée.

* SIGNIFICATION DES TOUCHES

[-2X] : Bouton de Mise en marche / d’Effacement Général.
[CE/C] : Touche d’annulation de I'Entrée / d’annulation.
[MU] : Touche de hausse / baisse du Prix

[00-+0] : Touche de correction.

[M+] : Touche de mémoire plus

[M-] : Touche de mémoire moins

[+ /-] : £ Touche de changement de Signe

[MR] : Rappeler la mémoire

[MC] : Effacer la mémoire

[MI1+] [M11-] [M11 €] : Seconde touche de Mémoire

g;g Bouton de sélection d’emplacement de la Décimale

-F- Mode de Décimale Flottante

-0-2-3-4- Mode de Décimale Fixe

-A- Le mode ADD entre automatiquement la décimale
monétaire en mode de calculs d’addition et de
soustraction

154 Bouton d’Arrondi supérieur / Arrondi / Arrondi

[ =) inférieur

Les signes de I'Affichage signifient ce qui suit:
MI : La Premiere Mémoire est remplie  —: Moins (ou négatif)
MII : La Seconde Mémoire est remplie. E : Erreur - Débordement

EXEMPLES D’OPERATIO

1.Exemples de calculs
Avant d'effectuer tout calcul, pressez sur la touche [% .

Exemple Touche d'Opération Affichage
tsnl 1x2x3=6 2] 0.
[ ] 1[x]2[x]3[=] 6.
[CE/C] 0.
A0234F _ .
g 2X376 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+H4[+6[=] 12.
1234 x 100 12345 [00~0] 1234.
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100%=20% 112 [] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5= 625 5 FEEFE 625.
Jiaa =12 1441 12.
A0234F
...... $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
T . 31205=-325.85 1205 [=] 25.85
Ls4l 1/30=0.0333.... 30 [+ [=] 0.03
1
A0234F ——— = ] =] [=]
AAAAAA x5z -0166.. 2054 0.16
2.Calcul avec mémoire
teal (12x4)-(20+-2)= [ 0.
x> 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10
[MR] w38,
ey MC] [CE/C] o.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A= 190) 10[-]5 M+ 4[] 2[MII+] M 8.
10+5=2
4x228 MIIE] w10,
(total B = 10) [MR] [] wi 190.
A+B=19 MIIg] w10,
= w10
=] o.
3.Constant Calcul
1547 2+3=5 2[+]3[7] 5.00
@M 44+3=7 4[5 7.00
nozaar 3X4111=12333 3] 4.111[7] 12.34
C W 3x6=18 6[=] 18.00
4.Correction et dépassement-erreur
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00~0] [x] 100 [=] E 12.3456789012
[Re1 0.
5. Calcul de la hausse et de la baisse du prix
t sl 200+(Px20%)=P 200 [+] 20 [MU] 250.
__200 oo MU] 50.
A0234F 1-20%
B 250 200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125__100 MU 25.
1+25%
125-100 = 25
6.Pourcentage Delta
154l 180-150 o, = 180 [-]150 [MU] 20.
CHH o X00%

A0234F 20%
[e— )]
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* Alimentzzione Elettrica

Il calcolatore CITIZEN model SDC-888X ha due ris ol H
energia solare e batteria di riserva e puo funzionare sotto qualsiasi luce.
-Spegnimento automatico-

La calcolatrice si spegne automaticamente se non immettere nessun
dato in circa 10 minuti.

- Sostituzione della batteria -

Nel caso che sia necessario sostituire la batteria,rimuovere il
coperchio inferiore, togliere la batteria vecchia e inserire una nuova
nel compartimento batteria.

* Indice Tasti

[-Ac] :Acceso/ Tasto cancella tutto.

[CEIC] : Cancella immissione / Tasto cancella.

[MU] : Tasto rialzo/ribasso di prezzo.

[00—+0] : Correzione. [M+] : Memoria addizione.
[M-] : Memoria sottrazione. [+ /-] : +Tasto cambio segno.
[MR] : Tasto richiama memoria [MC] : Tasto cancella memoria
[MII+] [M1I-] [MII €] : 1l Tasto di seconda memoria.

A0234F

Scambio selezione della posizione del decimale

-F- Modalita decimale mobile
-0-2-3-4- Modalita decimale fissa
—A- La modalita AGGIUNGI introduce automaticamente il
decimale monetario nei calcoli di addizione e sottrazione
154 Scambio arrotondare per eccesso / arrotondare /

arrotondare per difetto
I simboli dello Schermo di visualizzazione significano:
MI  La prima memoria caricata.
MII  La seconda memoria caricata.
— Meno ( 0 negativo).
E_Errore di traboccamento aritmetico

* Esampio di Operazione

1.0perazione del calcolo normale
Prima di effettuare ciascun calcolo, premere il tasto [%

Esempio Operazione con il tasto Visualizzazione

tsey 1x2x3=6 [Re- 0.

[an =) 12X 3] 5.

[CE/C] o

A0234F _ _

G2 ax3=6 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0.

2+ 4+ 6[=] 12.

1234 x 100 12345 [00~0] 1234,
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[:]0.2[] 75.
300 X 27% = 81 300 [x] 27 [%] 81.
12 100%=20%  11.2[] 56 [%] 20.
30 +(30X40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [] 40 [%)] 18.
5'=625 5 [=[F[E 625.
[1ag =12 144171 12.

A0234F

------ $14.90 + $0.35 — $1.45 1490 [+] 35 [-] 145 [+]

. $12.05 = $25.85 1205 [7] 25.85

ts41  1/30=0.0333.... 30 [ [5] 0.03

[G— )

R0EIE oy =066 20454 0.16

2.0perazione del calcolo memoria

tsul (12x4)-(20+2)= [QX 0.
o 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
no2aar [MR] w38
[c— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w100
25 4 =100 [MR] w190
(total A =190) 10 [<]5 [MI+] 4 [x] 2 [MII+] 8.
10+5=2
4x228 MIg] w10,
(total B = 10) [MR] [] wi 190.
A=B=19 MIIg] w10
[=] .19
[Re- o.
3.0Operzaione del calcolo costante
1547 2+3=5 2[+]3[7] 5.00
@M 4+3=7 4[] 7.00
3x4.111=12333 3[x]4.111[5] 12.34
CE ) 3x6=18 6[=) 18.00
4.Cancellazione della capacita di operazione superata
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00-0][x] 100 [=] E 12.3456789012
[Re1 0.
5. Calcolo rialzo / Ribasso di prezzo
t sl 200+(Px20%)=P 200 [<] 20 [MU] 250.
pe 200 _ oo MU] 50.
AQ234F  1-20%
B 250200 =50
125-(P X 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125 _150 MU 25.
1+25%
125-100 = 25
6.Percentuale Delta
Ll 182 150 10006 =  180[- 150 [MU] 20.

A0234F 20%
[— )}
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* Str voorzieni _

De CITIZEN SDC-888X calculator krijgt haar energie van twee
soorten batterijen : zonne-energie en reserve energie.Zij kan onder
alle soorten licht werken.

-Automatische verbreking van de stroomvoorziening-

Als de calculator gedurende 10 minuten niet gebruikt wordt, zal de
Sstroomvoorziening automatisch verbroken worden.

-Het verwisselen van de batterijen-

Wanneer u de batterijvakje wilt verwisselen, moet u eerst het deksel
van het batterijvakje openen en de oude batterijen verwijderen, en
daarna de nieuwe batterijen in het vakje plaatsen.

Lijst van druktoetsen Nederlands

-O%] : Inschakelen / Alles wissen.  [CE/C] : Invoer wissen / Wissen
[MU] : Toets voor afgeprijsde en verhoogde prijs

[00—0] : Veranderen. [M+] : Geheugen optellen.

[M-] : Geheugen aftrekken.

[+ /-] : + Toets voor het veranderen van teken

M
[M:
L

Of

R] : Toets voor het opvragen van geheugen
C] : Toets voor het wissen van geheugen
MII+] [MII -] [MI1E] : Toets van het tweede geheugen

Schakelaar voor de selectie van de decimale plaatsen
Drijvende komma decimale modus
-0-2-3-4- Vaste komma decimale modus

-A- De optelmodus gaat automatisch over naar de
monetaire decimale modus bij het optellen en aftrekken

1547
i Schakelaar voor het naar boven / naar beneden afronden
o

De tekens op het beeldscherm hebben de volgende betekenis:

Ml Het eerste geheugen is geladen. — Min ( of negatief)
MII  Het tweede geheugen is geladen. E Overflow fout.

* Voorbeelden van bediening bij gebruik

1. Voorbeeldberekeningen
Alvorens met een berekening te beginnen, dient u op de [ ]toets te
drukken.

Voorbeeld Ingedrukte toetsen Weergave op hetschern
tsal 1X2x3=6 [Re] 0.
[ =) 1[x12[x3[=] 6
[CE/C] 0.
AO23E 2x3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0
2[+]4[+] 6[7]
1234 x 100 12345 [00-0] 1 234
=123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x13[:]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
1; 2 % 100%=20%  11.2 [+] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5[x] [=][=] [F] 625.
Vias =12 144[] 12.
20234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1541 1/30=0.0333.... 30[<][3] 0.03
1
AQ234F @xs @y “0166.. 2KX5H4F[ 0.16
2. Geheugenberekeningen
tsal (12x4)-(20+2)= [Q] 0.
x> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10,
nozsar [MR] w38
‘‘‘‘‘‘ [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w o 60.
20x3=60 25 [x] 4 [M+] w100
25 x 4 =100 [MR] w190
(total A =190) 10 [+]5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2 . v
4x2=8 [MITE] w10
(total B = 10) [MR] [] w190,
A+B=19 MIg] w10,
[= .19
¢ 0.
3. Berekeningen met een constante
tsal 2+3=5 2[+] 3[4 5.00
M 4+3=7 4[4 7.00
nozaap 3X4111=12333  3(]4.111(] 12.34
CH ) 3x6=18 6[=] 18.00

4. Het schrappen van ingetoetste getallen die de
cberekeningcapaciteit overschrijden

123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00-0] [x] 100 [5] E 12.3456789012
51 o.
5. Berekening van de afgeprijsde of verhoogde prijs
T sl 200+(Px20%)=P 200 [<] 20 [MU] 250.
- 200 _ e [MU] 50.
Aoz34F  1-20%
D 550200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
_ 125 _ [MU] 25.
1+25%
125-100 = 25
6.Delta Procent
ts4l 1525150 <100% =  180[-1150 [MU] 20.

A0234F 200
[
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* Stremforsyningen

CITIZEN SDC-888X regnemaskine er forsynet af to typer batterier :
Solceller og reservebatteriet, hvilken ger det muligt at bruge
regnemaskinen med ethvert baggrundslys.

-Stop stramforsyningen automatisk-

Lommeregneren slukker automatisk for strammen, hvis der ikke har
veeret trykket pd en tast i ca. 10 minutter.

-Skift batteriet-

Nar batteriet skal skiftes, dbner man Iaget nedenunder, tager
batteriet ud, og seetter det nye batteri p& plads.

* Knappers indeks

[9X] : Teend / slet alt. [CE/C] : Slet indtastning / slet.
[MU] : Prismeerke op/ned [00—0] : Rettelse knap.

[M+] : Addition hukommelse knap.

[M-] : Subtraktion hukommelse knap. [+ /-] : +Skift fortegn
[MR] : Hent hukommelsen [MC] : Slet hukommelsen
[MI1+] [MII-] [M1I €] : Den anden hukommelsestast

[ Knap til valg af decimalplads
-F- Flydende decimaltaltilstand
-0-2-3-4- Fast decimaltaltilstand
-A- ADD-mode indtaster automatisk valutadecimalen i
additions- og subtraktionsberegninger
Tsad

Knap til rund op / rund af / rund ned

Tegnene pa displayet har falgende betydning:
Ml Den farste indleeste hukommelse. — Minus ( eller negativ)
MIl  Den anden indlzeste hukommelse. E Overlgbsfejl.

1.Almindelig regningsoperation

Inden du udferer en beregning, skal du trykke pa tasten [-2X-].

* Betjening eksempler

Eksempel Tastebetjening Vis
teel 1x2x3=6 e 0.
1[x]2[x]3[=] 6.
[CE/C] o
20238t ox3=6 2[x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+] 3[+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00-0] 1234,
=123,400 [x] 100 [=] 123'400.
5x3+0.2=75 5[x]3[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100%=20% 112 [] 56 [%] 20.
30 + (30X 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5[x] [=][=] [F] 625.
Vs =12 144[] 12.

A0234F $14.90 + $0.35 — $1.45 1490 [+] 35 [] 145 [+]
+$12.05 = $25.85 1205 [5] 25.85
1547 1/30=0.0333.... 30 [+] 7] 0.03

1
,,,,,, @say S0166..  2M5[4FE 0.16

2.Hukommelse regningsoperation

tsal (12x4)-(20:2)= [QY] 0.
x> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10
No2asE MR] w38
[c— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x 3 =60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A =190) 10[£]5 [MIH] 4 [x] 2 [MII+] 8.
10+5=2
Ix228 MIg] w10,
(total B = 10) [MR] [] w190,
A+B=19 MIg] w10,
= w19
ON
[ac 0.
3.Regningssystem for konstanter
tsal 2+3=5 23[9 5.00
M 4+3=7 4[] 7.00
Aozzar 3X4111=12333 341117 12.34
C W 3x6=18 6[=] 18.00
4.Slet delen over regningskapaciteten
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00-0] [x] 100 [5] E 12.3456789012
2] 0.
5. Beregning med prismaerke op & ned
T sl 200+(Px20%)=P 200 [+] 20 [MU] 250.
p=_200__ oo MU] 50.
AQ234F  1-20%
B 250200 =50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
pe 125 _ 00 MU 25.
1+25%
125-100 = 25

6.Deltaprocent

t54l  180-150 180 [-] 150 [MU] 20.
[ ] 150

x100% =

A0234F 200
—D
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* CHABXEHWE 9HEPIUEN

Mopene CITIZEN SDC-888X vmeer ABOViHOe nuTaHWe (COnMHeuYHble
anemeHTb! +6aTapest) 1 cnocobHa paboTath Npu NioGOM OCBELLIEHUN.
-ABTOMATU4ECKOE OTKIKOHEHNE NUTAHMSI-

3TOT KanbkynsTop obnaaaet thyHKUME aBTOMATUHECKOTO OTKITIOYEHMS
AreKTPONMUTaHMs, Grarofjapsi YeMy NuTaHMe OTKIKYAeTcsi, ecr B
TedeHre 10 MUHYT HE MPOVM3BOAUIIOCH HUKAKVX OMepaL i Ha KnasuLLax.
-3aMeHa 3M1eMEHTOB NUTaHMsI-

Brnarojapsi  OBOVHOMY nuTaHwio, Gatapeu, YcTaHaBnvBaemble C
0bpaTHON CTOPOHbI YCTPOWCTBA, paboTaloT AnuTensHoe Bpems. Ecru
U30DOpakeHNe Ha [AWCTNIEe  CTAHOBUTCH  HESICHbIM,  HeoBXoaumo
3ameHuTb Batapen. CHUMMTE KPLILUKY C HWKHEro oTceka. Masnexute
crapble 6atapeu v BCTaBbTe HoBble Gatapew, CoBnoaas NornsipHoCTb.

* HASHAYEHME KIABWLL

[SY]  : Bntouenmne nutanms / CEpOC BCEX 3HAUEHNIA.
[(fE/C] C6poc uncna / Copoc.
[MU] : Poct/nageHue ueHbl [+ /-] : #MepemeHa 3Haka
[00-0] : KnaBuwua «3aboit» (knaBuLua npasku Yucna).
[M+] : KnaBuwa npubaeneHus B pernucTp namsitu.
: KnaBuLua BbIYUTaHWA U3 PErMCTPa NaMATU.
MR] : Bbi3oB 4ncna u3 namsatm [MC] : C6poc namstn
[MI1+] [MI1-] [M11 §] : KnaBuwwm BBOAa/BbIBOAA YMCNa B PETUCTP
BTOpON NamATy

[ i) MepeknioyaTens MecTa AECATUYHOTO 3HaKa

-F- Pexum nnasatoLuelt 3anaToi

-0-2-3-4- Pexum (prUKCUPOBaHHOI 3ansiToit

-A- Pexum ADD—-aBTOMaTU4eCKuin BBOA ABYX
[IECATUYHBIX 3HAKOB MPU CMOXEHWN W BbIYUTAHUM
[IEHEXHbIX CyMM

Lot OkpyrneHue BBepx / OkpyrneHue / OkpyrneHve BHU3
3

TOpoB
MI : 3arpyxeHa 1-a namsTb.
MII : 3arpyxeHa 2-5 namsTb.
— : MuHyc ( unm oTpuuatenbHoe Y1cno)

E : Ownbka nepenonHeHus.

1.MpumepsbI pacyéToB
Mpexxae YeM HayaTb BbIMUCNEHNS, HOXKMUTE KnaBuLy [%].

Mpumep Knasuwum OkpaH
touy 1x2x3=6 | 0.
1X12[x]3 =] 6.
[CE/C] o
A0234F
------ 2x3=6 2[x] 2 [CE/C] 3[=] 6.
— 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [00-0] 1234,
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
1; 2 100%=20% 1.2 [+] 56 [%] 20.
30 + (30 x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-]40 [%] 18.
5%=625 5[x [=] (=] [7] 625.
Jiaa =12 1441/1 12.
$14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1547 1/30=0.0333.... 30 [+] 7] 0.03
oy
A023E oom =016 2[5[H4 ][] 0.16
2.0nepauum ¢ namaTbo
tsul (12x4)-(20+2)= [Q¥] 0.
o 38 1204 MH20[F12M] w10,
[MR] w38,
Aty [MC] [CE/C] o.
15x2 =30 15 [x] 2 [M+] 20 [] 3 [M+] w60
20 x3 =60 25[x] 4 [M+] w100
25 x4 =100 [MR] w190
(total A= 190) 10 [+] 5 [MI+] 4 [x] 2 [MII+]  )ht 8.
10+5=2 ML i
4x2=8 [MIE] w10,
(total B = 10) [MR] [] wi 190.
A+B=19 MIg] w10
=] w19
[R 0.
3.BblYMCNEHNA C KOHCTAHTOW
ts54) 2+43=5 2[+]3[5] 5.00
@M 44+3=7 419 7.00
nozgsr 3X411=12333 34111 (=) 12.34
3x6=18 6[=] 18.00
4.UcnpaBneHue olMBOK 1 COPOC OLLMOKM NPU M3ObITKE YUCTIOBLIX 3HAKOB
123456789012 x 100 1234567890123 £ 123456789'012.
= 12345678901200 [00>01 X 100 5] £ 123456789012
[W 0.
5.PACYET POCTA U NAOEHUA LEEH
1547 200+(Px20%)=P 200 [+] 20 [MU] 250.
__200 _ [MU] 50.
P= =250
noz3sr  1-20%
B 250200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
pe_125__ 00 MU 25.
1+25%
125-100 = 25
6.MPUPOCT NPOLIEHTOB
L4l 180-150 o, - 180[-] 150 [MU] 20.
cCaxO o X100%=

A0234F 20%
[e—
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* ZASILANIE

Kalkulator CITIZEN, model SDC-888X jest zasilany podwdjnie
(bateria stoneczna + bateria zwykta) Kalkulator pracuje w kazdych
warunkach o$wietlenia.

-Funkcja automatycznego wylaczenia-

Kalkulator wylacza sie automatycznie w przypadku jesli zaden z
przyciskéw nie zostanie naci$nlety w ciggu 10 minut.

-Wymiana baterii-

Jesli konieczna jest wymiana baterii nalezy otworzy¢ dolng uwage
na odpowiednia polaryzacje.pokrywe, usunac stare baterie i wiozy¢
nowe zwracajac.

* OPIS KLAWISZY

[-3%-] : Zasilanie /Kasowanie zawartosci pamieci .

[CE/C] : Kasowanie liczby / Kasowanie.

[MU] : Przyrost/obnizka cen. [+ /-] : ¥Zmiana znaku

[00-+0] : Klawisz powrotu [M+] : Przycisk wprowadzenia do
pamieci ze znakiem plus

[M-] : Przycisk wprowadzenia do pamigci ze znakiem minus
[MR] : Klawisz MR (Klawisz wywolania z pamigci)

[MC] : Klawisz MC (Klawisz kasowania pamigci)

[MII+] [MII-] [MII §] : Druga pamie¢

[ ) Przetacznik liczby miejsc po przecinku

-F- Tryb zmiennej liczby miejsc po przecinku
-0-2-3-4- Tryb statej liczby miejsc po przecinku

-A- Tryb ADD-Automatycznie wstawianie dwuch znakéw

po przecinku dziesigtnym pod czas dodawania lub
odejmowania sum pienigznych

Zaokraglenie w dét / Zaokraglenie w gore /
Przetacznik trybu zaokraglenia

Znaczenie wskaznikéw wyswietlacza:
MI : Zaladowana pierwsza pamig¢ —: Minus ( lub liczba ujemna)
MII : Zaladowana druga pamig¢. tad przepetnienia.

* PRZYKLADY DZIALAN

1.Przykladowe obliczen
Zanim rozpoczniesz obliczenia, nacisnij klawisz [%]4

Przyktad Klawisze Ekran
toul 1x2x3=6 A& 0.
1X2[x]3[=] 6.
[CE/C] o
A0234F - -
Cg 2x3=6 2[x] 2 [CE/C] 3[=] .
2+4+6=12 2[+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[7] 12.
1234 x 100 12345 [00-0] 1234
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [+] 56 [%] 20.
30 + (30 x40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-]40 [%] 18.
5'=625 5[ [=] =] [7] 625.
Jiaa =12 144 /1 12.
£0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
T 4 §12.05=$25.85 1205 [=] 25.85
1547 1/30=0.0333.... 30 [+] 4] 0.03
1
A0234F ———— - 2] [=
...... @x5 4 0166 254 0.16
2.0bliczenia z wykorzystaniem pamigci
sl (12x4)-(20+2)= [Q] 0.
x> 38 12 [x] 4 [M+] 20 [+] 2 [M-] w10,
no234F [MR] w38
[— ) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w 100.
25 x4 =100 [MR] w190
(;gtalsA =2190) 10 [+] 5 [MII+] 4 [x] 2 [MII+] ) 8.
4x228 MIIE] w10,
(total B = 10) [MR] [] w190,
A=B=19 MIIE] w10
=l w19
R 0.
3.Stala
154l 2+3=5 2[+]3[5] 5.00
4+3=7 4[5 7.00
aozpar 3X4111=12333 34111 (7] 12.34
3x6=18 6[=] 18.00
4. Przepetnienie pamiegci
123456789012 x 100 1234567890123  E 123'456'789'012.
= 12345678901200 [00-+0] [x] 100 [5] E 12.3456789012
e 0.
5. Przyrost i obnizka cen
1547 200+(Px20%)=P 200 [+] 20 [MU] 250.
__200 _ MU] 50.
P= =250
noz3sr  1-20%
B 250200 = 50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
__ 125 _ MU] 25.
P=Trasy 100
125-100 = 25

6.Przyrost Odsetek

Ll 18(1)—150 «100% = 180 [-1 150 [MU] 20.

A0234F 20%
[— )}
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tsay 1x2x3=6 (e 0.
1X12[x]3[=] 6.
[CE/C] o
A0234F ox3=6 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2[+]3[+] 6 [CE/C] [CE/C] o
2[+]4[+]6[=]
1234 x 100 12345 [00-0] 1 234
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
ﬂ X 100% = 20% 11.2 [+] 56 [%] 20.
30 +(30 x 40%) = 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'=625 5 [=][=] =] 625.
Jiaa =12 144 /1 12.
A0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
1547 1/30=0.0333.... 30 [+] =] 0.03
1
AO234F Gx5a) “0166..  2K5HAFIE 0.16
S0 s 2
teal (12x4)-(20+2)= [N 0.
38 12[x]4 [M+]20[<]2[M-] s 10.
No234E [MR] w38
«««««« [MC] [CE/C] 0.
15x2 =30 15x]2[M+20 [x] 3 [M+] s 60.
20 x3 =60 25 [x] 4 [M+] w100
25 x4 =100 MR] w190
(total A = 190) 10 [+] 5 [MII+] 4 [x] 2 [MII+] 8.
10+5=2 " M
ix2e8 [MII§] n 10.
(total B = 10) [MR] [=] w190
A+B=19 [MIIE] w10
= w19
R 0.
) Glua 3
L1541 2+3=5 2[+]3[5] 5.00
@D 4+3=7 419 7.00
aozgar 3X4.111=12333  3[x]4.111[7] 12.34
C o) 3x6=18 6[=]

123456789012 x 100
=12345678901200

1 5477  200+(P x 20%)=P

200
= =2
Ao234F  1-20% %
C—B 250-200=50
125-(P x 20%)=P
=125 _ 400
1+25%
125-100 = 25
15471  180-150 o
CaH o X100%=
A0234F

20%
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1234567890123 E 123'456'789'012.
[00-+0] [x] 100 [5] E 12.3456789012
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0.
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200 [+] 20 [MU] 250.
[MU] 50.
125 [#] 25 [+/-] [MU] 100.
MU] 25.
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180 [-] 150 [MU] 20.
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* Sumber tenaga listerlk

Calculator CITIZEN model SDC-888X mendapat listerik dari dua
macam baterai : tenaga matahari dan tenaga simpanan, sehingga
calculator ini bisa bekerja dibawah segala macam sinar.

-Sumber tenaga bisa bekerja dan tutup secara otomatis-

Jikalau dalam kira2 10 menit calculator tidak bekerja maka sumber
tenaga akan berhenti bekerja otomatis.

-Cara mengganti baterai-

Jikalau baterai perlu diganti, anda harus membuka dulu kotak
baterai dan mengeluarkan baterai lama. Sesudah itu anda baru bisa
memasukkan baterai yang baru didalam kotak itu.

* Daftar fungs

[-8X] : Tombol Power On / Hapus Semua
[CE/C] : Tombol Power On / Hapus Semua
[MU] : Tombol Mark-up/down harga
[00-+0] : Koreksi. [M+] : Memory penambahan.
[M-] : Memory pengurangan. [+ /-] : £Tombol pengubah tanda
[MR] : Tombol Pemanggil Memori  [MC] : Tombol Penghapus Memori
[MI1+] [M11-] [M11 €] : Tombol Memori Kedua

AD234F

Switch pemilihan jumlah desimal

-F- Mode desimal mengambang

-0-2-3-4- Mode desimal tetap

-A- Mode ADD secara otomatis akan memasukkan
desimal keuangan pada operasi perhitungan
penambahan dan pengurangan

154 Switch untuk pembulatan ke atas / pembulatan ke

[ ) bentuk yang lebih sederhana / pembulatan ke bawah

Arti dari Tanda-tanda yang Muncul di Layar:

MI  Digunakan memori pertama. — Minus ( atau negatif)

MIl Digunakan memori kedua. E Kesalahan Overflow.

* Contoh cara pakai

1. Cara kalkulasi biasa
Sebelum melakukan setiap perhitungan, tekanlah dahulu tombol [% .

Contoh Operasi Tombol Tampilan di Layar
tsel 1x2x3=6 ey 0.
[ ) 1[x]12[x]3[] 6.
[CE/C] 0.
A0234F _ -
g 2X3=6 2 [x] 2 [CE/C] 3[=] 6.
2+4+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2+ 4+ 6] 12.
1234 x 100 12345 [00~0] 1'234.
= 123,400 [x]100 [=] 123'400.
5x3+0.2=75 5[x]3[+]0.2[7] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [+] 56 [%] 20.
30 + (30 x 40%) =42 30 [+] 40 [%] 42.
30-(30x40%) =18 30 [-] 40 [%] 18.
5'= 625 5 EEF 625.
Jiaa =12 1441 12.
A0234F $14.90 + $0.35 - $1.45 1490 [+] 35 [-] 145 [+]
+$12.05 = $25.85 1205 [=] 25.85
Ls4l 1/30=0.0333.... 30 ][] 0.03
1
A0234F —— —  _ -] [=]
,,,,,, x5 4y 0166 2DISH4FIE 0.16
2.Cara melakukan kalkulasi dengan memory
tsal (12x4)-(20+2)= [QN] o.
x> 38 12 [x] 4 [M+] 20 [] 2 [M-] w10
no23ar [MR] w38
[—) [MC] [CE/C] 0.
15x2 =30 15 [x] 2 [M+] 20 [x] 3 [M+] w60
20x3=60 25 [x] 4 [M+] w100
25x 4 =100 [MR] w190
(total A =190) 10 [<]5 [MI+] 4 [x] 2 [MII+] 8.
10+5=2
X228 Mg w10
(total B = 10) [MR] [] wi 190.
A+B=19 MIIg] w10
[=] 19
[Re- o.
3.Cara kalkulasi dengan bilangan konstan
tsal 2+3=5 2[+3[9] 5.00
M 4+3=7 4[] 7.00
Aozzar 3X4111=12333  3[]4.111[7] 12.34
C W 3x6=18 6[=] 18.00
4.Pengnapusan kalkulasi yang melewati
123456789012 x 100 1234567890123  E 123'456'789'012.
=12345678901200 [00-0] [x] 100 [5] E 12.3456789012
[Re1 0.
5. Perhitungan mark-up & down harga
T sl 200+(Px20%)=P 200 [<] 20 [MU] 250.
=200 _ g [MU] 50.
Aoz34F  1-20%
B 250-200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
p=_125 _,00 MU 25.
1+25%
125-100 = 25

6.Persen Delta

ts4]  180-150 180 [-] 150 [MU] 20.
150

x100% =

A0234F 200
—D
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*

CITIZEN SDC-888X

[CE/C] : /
[00-0] :

[M-]:

[MR] :

_ON
AC
Twl 1x2x376 o 3
1[X]12[x]3[] 6.
[CE/C) o
A0234F Hx3=6 2 [x] 2 [CE/C] 3[=] 6.
2+44+6=12 2 [+] 3 [+] 6 [CE/C] [CE/C] 0.
2[+]4[+]6[=] 12.
1234 x 100 12345 [OO-’O] 1'234.
= 123,400 [x] 100 [=] 123'400.
5x3+02=75 5x]3[:]0.2[5] 75.
300 X 27% = 81 300 [x] 27 [%] 81.
% x100% =20%  11.2 [+] 56 [%] 20.
30 + (30X 40%) =42 30 [+] 40 [%] 2.
30-(30x40%) =18 30 [] 40 [%] 18.
5'=625 5= == 625.
Jiaa =12 144 [ f1] 12.
A0234F
------ $14.90 +$0.35 - $1.45 1490 [+] 35 [] 145 [+]
T 1 $1205=$25.85 1205 [] 25.85
154% 1/30=0.0333.... 30 4] 2] 0.03
[— ) 1
A9ZHME e =0166... 205 4[] [ 0.16
2.
sl (12x4)-(20+2)= [ 0.
38 12[4MH20[12[M-] w10,
no2aar [MR] w38
44444 [MC] [CE/C] 0.
15x2=30 15[x]2[M+20X]3[M+]  wi  60.
20x3 =60 25 [x] 4 [M+] w100,
25x 4= 100 [MR] w190,
(118tél :52190) 10 [<]5 [MII+] 4 [x] 2 [MII+] 8.
AR Mig] M0
(total B = 10) [MR] [] w190,
A+B=19 MHE] - 10
= w10
ey 0.
3.
tsul 243=5 2[+3[4] 5.00
M 4+3=7 4[4 7.00
nozaqp 3X4111=12333  3[x]4.111[=] 12.34
CH ) 3x6=18 6(=] 18.00
4.
123456789012 x 100 1234567890123  E 123'456'789'012.
= 12345678901200 [00-0][x] 100 [=] E 12.3456789012
[R1 0.
5 &
tsl 200+(PX20%)=P 200 [] 20 [MU] 250.
200 _ o0 MU] 50.
Ao234F  1-20%
C—B 550 200=50
125-(P x 20%)=P 125 [+] 25 [+/-] [MU] 100.
= 125 _1q0 MU 25.
1+25%
125-100 = 25
6.
L5t} 180-150 oo 180 (-] 150 [MU] 20.
AO234F 20%
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Information for Users on Collection and Disposal of used Batteries.

The symbol in this information sheet means that used batteries
should not be mixed with general household waste.

For proper treatment, recovery and recycling of used batteries,
please take them to applicable collection points.

For more information about collection and recycling of batteries,
please contact your local municipality,your waste disposal service
or the point of sale where you purchased the items.

Information on Disposal in other Countries outside the European Union.

This symbol is only valid in the European Union.
If you wish to discard used batteries, please contact your local authorities
or dealer and ask for the correct method of disposal.




A-Type (Desktop—1) 190x72m

If you want to dispose this product, do not mix with
general household waste. There is a separate collection
systems for used electronics products in accordance with
legislation under the WEEE Directive (Directive
2002/96/EC) and is effective only within European Union.

Wenn Sie dieses Produkt entsorgen wollen, dann tun Sie
dies bitte nicht zusammen mit dem Haushaltsmiill. Es gibt
im Rahmen der WEEE-Direktive innerhalb der
Européischen Union (Direktive 2002/96/EC) gesetzliche
Bestimmungen fiir separate Sammelsysteme fiir gebrauchte
elektronische Gerate und Produkte.

Si vous souhaitez vous débarrasser de cet appareil, ne le
mettez pas a la poubelle avec vos ordures ménageéres. Il
existe un systéme de récupération distinct pour les vieux
appareils électroniques conformément a la Iégislation
WEEE sur le recyclage des déchets des équipements
électriques et électroniques (Directive 2002/96/EC) qui est
uniquement valable dans les pays de I'Union européenne.
Les appareils et les machines électriques et électroniques
contiennent souvent des matiéres dangereuses pour
I'homme et I'environnement si vous les utilisez et vous vous
en débarrassez de fagon inappropriée.

Si desea deshacerse de este producto, no lo mezcle con
residuos domésticos de caracter general. Existe un
sistema de recogida selectiva de aparatos electronicos
usados, segun establece la legislacion prevista por la
Directiva 2002/96/CE sobre residuos de aparatos
eléctricos y electronicos (RAEE), vigente Gnicamente en la
Unién Europea.

Se desiderate gettare via questo prodotto, non
mescolatelo ai rifiuti generici di casa. Esiste un sistema di
raccolta separato per i prodotti elettronici usati in
conformita alla legislazione RAEE (Direttiva 2002/96/CE),
valida solo all'interno dell’'Unione Europea.

Deponeer dit product niet bij het gewone huishoudelijk afval
wanneer u het wilt verwijderen. Erbestaat ingevolge de
WEEE-richtlijn (Richtlijn 2002/ 96/EG) een speciaal
wettelijk  voorgeschreven  verzamelsysteem  voor
gebruikte elektronische producten, welk alleen geldt
binnen de Europese Unie.

Hvis du vil skille dig af med dette produkt, ma du ikke smide
det ud sammen med dit almindelige husholdningsaffald. Der
findes et separat indsamlingssystem for udtiente
elektroniske produkter i overensstemmelse med lovgivnin-
gen under WEEE-direktivet (direktiv 2002/96/EC), som
kun er gzeldende i den Europaeiske Union.

Se quiser deitar fora este produto, ndo o misture com o lixo
comum. De acordo com a legislagdo que decorre da
Directiva REEE — Residuos de Equipamentos Eléctricos e
Electrénicos (2002/96/CE), existe um sistema de recolha
separado para os equipamentos electrénicos fora de uso,
em vigor apenas na Unido Europeia.

Jezeli zamierzasz pozby¢ sig tego
produktu, nie wyrzucaj go razem ze
zwyktymi domowymi odpadkami. Wedtug
dyrektywy WEEE (Dyrektywa
2002/96/EC) obowig zujacej w Unii
Europejskiej dla uzywanych produktow
elektronicznych nalezy stosowacé

oddzielne sposoby utylizacji. _
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